SN 5D
Ha: YWY WY B (SPHYN/5Y - 55)
B9l mFEDE S (el Mg)
SN B SR(B) - MTAY - BES ofl ko = e HRS2
s 57,442,017 67,108,201 29,666, 184
= 6,832,149
Xl 39,468, 100
S 11,141,768
sy 2 A (sHHLSM/5Y - &) 13,241,694 14,244,962 21,003,268
= 3,230,366
Xl 6,725,000
= 3,286,328
sggAI|E RF 9,994,000 11,298,000 21,304,000
= 1,900,000
X 6,725,000
< 1,369,000
s - s&E ZdY 22 NI 134,000 134,000 0
201 g er2H| 10,000 10,000 0
01 AtR2eldl 10,000 10,000 0
OZEsE HudA 29 10,000
202 0iHl 69,000 69,000 0
01 2 GBI 20,000 20,000 0
OANHF=N o SHEEQl 20,000
03 S AH20H| 27,000 27,000 0
OsZEANY AR =™ 27,000
04 = M =tod b 22,000 22,000 0
O=ZAMNY o= 22,000
203 YR =&l 55,000 55,000 0
03 Al =X YRF=AH| 55,000 55,000 0
OsH4Y ZHH &8 A FA 55,000
=Y Do AME(21) 200,000 200,000 0
= 100,000
== 100,000
307 21201 ™ 200,000 200,000 0
= 100,000
= 100,000
02 QIZHBMMNEEXR 200,000 200,000 0
OaMEH HELA 2E & 200,000
= 100,000
= 100,000
sENS SsadsX(=20) 5,038,000 5,198,000 £160,000
X 5,013,000
= 25,000
202 01H| 10,000 10,000 0
X 5,000
=SS 5,000
01 S bI 10,000 10,000 0
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SN =™
MY A= AW BA(SYHLLM/SY - &)
CHol: =AU & (Erol: @)
S - e e
| RH-EM - BN(EA) - MEAY - BES | hies BimE=T
O==Ngs JEEIHT o= 10,000 — |
% 5,000
= 5,000
307 0I2H0| & 40,000 40,000 0
Xl 20,000
= 20,000
02 QIFEAAAIEEX 40,000 40,000 0
OSEAAS JHBIHN 2S 40,000
% 20,000
== 20,000
403 ARSI S K=0|E™ 4,988,000 5,148,000 A 160,000
Xl 4,988,000
01 X SHRESE 4,988,000 5,148,000 £ 160,000
OMASEI L, X - I, 6XArE X 4,988,000
T 4,988,000
XIHEH 6XIAI B A3 XIR(6XIAIAE NRIR] 1,025,000 1,100,000 AT5,000
2y o B (=)
= 525,000
c 500,000
307 012+0| & 1,025,000 1,100,000 A75,000
= 525,000
= 500,000
02 CI2IAAAIE E X 1,025,000 1,100,000 275,000
OBXIAIQE NRI2IY 2% U B} 1,025,000
= 525,000
= 500,000
XIHCHS| 6XIAI B3 KR (6XIARE XIREA)( 1,365,000 1,365,000 0
23)
= 1,050,000
= 315,000
403 XHXICHRI S XH2 01 & 1,365,000 1,365,000 0
= 1,050,000
= 315,000
0l HXISHA=EE 1,365,000 1,365,000 0
oBX A S XXM 1,365,000
= 1,050,000
= 315,000
L R CEEEEE 279,000 0 279,000
= X&) (=1)
= 225,000
== 54,000
403 XHRICHRIS XH= 0| ™ 279,000 0 279,000
= 225,000
= 54,000
0l HXSHAEEE 279,000 0 279,000
oOXocs YEYT 2= X 279,000
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SN =Y
HH: YRse AW BY(SYHYLM/59 - 58
thelr sYEI|E A5 EERESED
SA - O9i(30) - NEAY - BES | ola SeR BmE2
— — T 255,00 -
e 54,000
BENAS LA (2D) 1,712,000 3,060,000 1,348,000
Xl 1,712,000
403 XXM S K20l & 1,712,000 3,060,000 A 1,348,000
Xl 1,712,000
01 XIS R2EE 1,712,000 3,060,000 A1,348,000
OEELMASHMNY 1,712,000
Xl 1,712,000
SESSENY 245 X 35,000 35,000 0
308 AtXI & XM SOI™ 35,000 35,000 0
Ol AXSHZBAEES 35,000 35,000 0
OCCIEMEN REME &= 35,000
SESSENMY OAE NJ3Ls 200,000 200,000 0
307 glz2tol ™ 200,000 200,000 0
02 QIZHEAMAIHEX 200,000 200,000 0
O=Z8S&ad OE XaLs 200,000
sXolEael XN& 6,000 6,000 0
202 G4 Hl 6,000 6,000 0
01 =LHOIYI 6,000 6,000 0
O=sXdE & 50t & HFEY 6,000
SEIIXI2 a2 & g4 1,122,016 1,035,884 86,132
= 27,400
& 1,094,616
gLl 28 2 90,000 85,000 5,000
307 Qiztol ™ 90,000 85,000 5,000
02 QIZtBMAIHE X 90,000 85,000 5,000
OZd=Ld X X 70,000
ON4d=a0 Z3 20,000
H2zgel REFEXN ASNE 140, 160 145,684 £5,524
308 AHXIEHMSOIE 140, 160 145,684 25,524
01 AXHHMBLAEES 140, 160 145,684 5,524
OEE=2 RSEEXN A=SXE 140, 160
tdsgo |4 99,956 82,800 17,156
202 044l 4,000 4,000 0
01 =W oibl 4,000 4,000 0
ON4 = |4 ARFA 4,000
308 AtXIEHSO0IA 95,956 78,800 17,156
01 AXHRBLAEES 95,956 78,800 17,156
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SH: 5D
Fu: U= WY BN (SHSSN/5Y - 52)

R sEIXIS &2 & &4 (e 3&)
RN -ED-G(3) - MRAY - Bg | e | slusz |
CEELFEENE Ve L] 1 19,800 B

Od=soAdE 28 & 52,000
OG&E=e2 sit==0 K& 24,156
H&e=sgel EXH*H™ 360,000 300,000 60,000
308 AtXIEHMI SOl 360,000 300,000 60,000
01 RIIXetHMBLEES 360,000 300,000 60,000
O0d=e2 EXHRY N& 360,000
==& Z2& & 10,500 12,000 21,500
308 AtXIEHMSO0IA 10,500 12,000 A1,500
01 AXHHBIAEEZ 10,500 12,000 21,500
O==&2 ZE XA 10,500
=ge NuwMIH Xz K& 228,000 278,000 250,000
308 AHXI &M SOl & 228,000 278,000 250,000
01 AXIHHBAEESZ 228,000 278,000 A50,000
O=sgo NuAdIH &z X 228,000
A= ZaH X 159,000 105,000 54,000
308 AHXI XM SOl & 159,000 105,000 54,000
08 WERI|IZNUSE = 159,000 105,000 54,000
OXNgEsdd SAH XA 159,000
sZ& ZS00IE84dH 2 X&(=21) 27,400 27,400 0
= 27,400
308 AtXIEHM SO0l & 27,400 27,400 0
= 27,400
Ol AXHHBLAEEZ 27,400 27,400 0
O=& 3S00|E54H 24 N3 27,400
= 27,400
IIEZEE Y s N 7,000 0 7,000
201 LBt HH| 3,400 0 3,400
01 AL 2telH] 3,400 0 3,400
ON=ZZEY NEXF 22 3,400
301 et at=a 3,600 0 3,600
09 EAtAHIB &S 3,600 0 3,600
(OF =T~ 2~ 0) JURDNE - | 3,600
dEsgY 84 2,125,678 1,911,078 214,600
= 1,302,966
< 822,712
Z2E sOYUAA 29 30,000 30,000 0
201 et Y| 25,000 25,000 0
03 A2 &I 25,000 25,000 0
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=3

DAY VY BA(SPHYLN/5Y - 55)
: W=yl 84 (ersl:&e
oato
25.000
307 QI2t0| & 5,000 5,000 0
04 CIZISHALAIH E X 5,000 5,000 0
OERYAE HE S 5,000
SOt M 110,500 106,500 4,000
202 o Hi 3,000 3,000 0
01 =2LHGHI 3,000 3,000 0
O=YICH 84 AR2FA 3,000
307 212t0| & 107,500 103,500 4,000
02 CI2FEA A AN E X 30,000 26,000 4,000
Oft=sd d22F U= 9,000
O8tl=s H&Eds ns 9,000
OXN= H&HAs Ns 6,000
OEE2BFHE I8 SHEFMH EEJ| 2,000
OUEMsEEANES 4,000
04 CIZISHAIAISE B X 77,500 77,500 0
OH93 S=204d=go L]AZUE 40,000
OHNI3s A =III=E stoiSU 3l 30,000
O AAHIX HESA OFED| A 3,500
OMALXIRL AHIXDE Mol ES UsE 4,000
Sgol NENE 29 150,000 150,000 0
308 AHXISHHSOIH 150,000 150,000 0
10 212 SHHSH AR E AL HI 150,000 150,000 0
OsgzNFEHUE 299 150,000
S0l HMsis 843 29 XY 30,000 60,000 A 30,000
308 XHXIEHH SOI & 30,000 60,000 £A30,000
10 2|2 SO HSHE AR A E AL HI 30,000 60,000 30,000
O=sgQol WHsts 29 XY 30,000
SHsnE XN (=2D) 32,400 37,800 A5,400
= 18,000
& 14,400
307 2I2t0| & 32,400 37,800 25,400
= 18,000
== 14,400
02 DIZHAAMAIRIE X 32,400 37,800 25,400
OFAHsnNE X 32,400
= 18,000
c 14,400
SH0I0IAEUIE 29 XK (=D) 741,778 741,778 0
= 487,966
= 253,812




SN 5FB
Y A=Y WY S (sHHLSL/5Y - 5E)
ttel: MdE2sge |4
o o SN-Za. %(illll) M= Arg: - B4 - Olmon
ol : L
307 Ul?ioli_ 741,778
e 487,966
= 253,812
02 2IZHAMAHE R 741,778 741,778 0
OsDtoIAE e 28 K& 741,778
=2 487,966
LS 253,812
SUIIALE (ALEXNY)(=2D) 90,000 90,000 0
= 90,000
308 AN EHHSOIH 90,000 90,000 0
= 90,000
01 MXESHMBLEXS 90,000 90,000 0
OsgasHLE N3 90,000
= 90,000
sog XJ 150,000 35,000 115,000
308 AtXIEHHSOIA 150,000 35,000 115,000
01 AXEHBLEXS 150,000 35,000 115,000
OAZEHS sUAHXIAMEH K& 60,000
o= 22X 22 N 90,000
AXsdHEN oZgtdl X (=2) 400,000 600,000 £A200,000
= 400,000
308 X+XIEHH SO0 400,000 600,000 £A200,000
= 400,000
08 I Z0THEtE=x 400,000 600,000 A200,000
OFEsYHTNW Zetd K& 400,000
= 400,000
=g 84 - N 25,000 0 25,000
308 XtXIEHSOIA 25,000 0 25,000
01 TUXHMBLEExRS 25,000 0 25,000
OFd HEs N 25,000
Husoo A=A NR(NY)(21) 46,000 0 46,000
= 23,000
& 23,000
201 L2 2,000 0 2,000
= 1,000
& 1,000
01 AbF 22/t 2,000 0 2,000
OFHsol H - I =€ & 2,000
= 1,000
=S 1,000
202 O Hl 4,000 0 4,000
= 2,000
=S 2,000
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FA: sED

%&': A= MY SMA(SBHLLSN/SY - SE)
el d2sgel 84 (9 HH)
B . REH . ChOl (B ) - M e L HA2 ” ol = i " dHET | H=or
01 ZLHoi bl B 4,000] 0 4,00
OFUH=R HARFA 4,000
= 2,000
c 2,000
307 CIZto| & 40,000 0 40,000
= 20,000
= 20,000
02 DI2HAAANHEX 40,000 0 40,000
O&dE=Lol & 40,000
= 20,000
T 20,000
HEseol Isda X (XY)(=1) 320,000 0 320,000
= 284,000
4 = 36,000
308 AXHHSOIN™ 320,000 0 320,000
= 284,000
& 36,000
01 HXICHHBAZEZ 320,000 0 320,000
odd Yol HAXAZS N 320,000
= 284,000
& 36,000
LASENY 2 (sHNLLM/5Y - &) 44,134,168 51,793,452 AT,659,284
= 3,601,783
Xl 32,743,100
[ 7,789,285
=8 =& 39 #45 1,150,710 990,510 160,200
= 332,910
N 150,000
T 667,800
S g8gl =X 191,000 217,000 226,000
202 04 Hi 10,000 10,000 0
01 2LHA Bl 10,000 10,000 0
O=s=ad 833 gex% 10,000
307 QIZ2t0| A 40,000 40,000 0
02 QIHFAARIER 40,000 40,000 0
OL=s1LR ¥ =&32Y &2 40,000
308 AHRISHHSOIE 141,000 147,000 26,000
01 AXSHHBAEEZ 141,000 147,000 26,000
O=sENEEs20I2 MEgss 29 I 24,000
Os0 &0l 435 K& 117,000
HMEo2ed ne N (Fz2s)(=210) 32,910 32,910 0
= 32,910
308 RXISHHSOIN™ 32,910 32,910 0
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2A: s31
B UREENY BN (SPHL/EY - 5E)
ool se =& Y #4438 (&2l d|)
' = =§ ZH ol (=1 . M , = (I A} OH dMEe =5
[ — ‘ — 70 —
01 IXIHIAEEZ 32,910 32,910 0
O=EHEEL0IS 23 UK 32,910
= 32,910
SESSHEA =AY XS (XXESH)(=2) 165,000 165,000 0
Xl 150,000
T 15,000
308 AXSHMSOIH 165,000 165,000 0
Xl 150,000
= 15,000
01 IXCNBAEZS 165,000 165,000 0
O=ESSHEA 2AM K& 165,000
Xl 150,000
< 15,000
HAsHE 83 =& 261,800 255,600 6,200
308 AXISHMSOIH 261,800 255,600 6,200
01 AXSHMBAEEZ 261,800 255,600 6,200
OAsHE EZE218 29 25,200
OA=e HEXA 236,600
SN0 SESX XA (ZH) 140,000 0 140,000
307 B12H0| & 140,000 0 140,000
02 QIZHAAAIRIE X 140,000 0 140,000
O AL s&8x X 140,000
SANS s=£X XN (A2)(21D) 360,000 120,000 240,000
= 300,000
T 60,000
308 AR SOIH 360,000 120,000 240,000
= 300,000
= 60,000
01 ARSI AEES 360,000 120,000 240,000
O AC sERX XA 360,000
= 300,000
T 60,000
SE2ZI|B &5 3,602,358 1,431,442 2,170,916
= 1,055,873
Xl 1,902,000
= 644,485
SE2ZFH 84 N (=) 1,029,010 1,052,100 223,090
= 887,540
T 141,470
308 AXISHMSOIH 1,029,010 1,052,100 223,090
= 887,540
& 141,470
01 ARSI AEEZ 1,029,010 1,052, 100 A23,090
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MM U=

2A: s34
YESE g
Etel: sE&2ZD|E &5 (et=:d@

fiwe o BEE . HpEd
@%%ﬂl%?%ﬂi% AP-‘?—?:‘! 'Hg 784,010
= 656,540
& 127,470
Os0E0E MHHIA M= 45,000
= 45,000
OXNELS sELZAIAE 25 84,000
= 70,000
= 14,000
O=sERs&MH XI& 57,000
= 57,000
OsEEHM XJ 59,000
= 59,000
SEBBEY S4 NK(2HE2Y)(2D) 75,262 75,744 A482
= 75,262
307 glzto| & 5,000 5,000 0
= 5,000
02 QIHHMAIHEX 5,000 5,000 0
OsEMEs2d0s 2824 XA 5,000
= 5,000
308 XX A S0 M 70,262 70,744 A482
= 70,262
Ol RHXSHBAEES 70,262 70,744 A482
O=sENEFL0IE SBEIIY XA 70,262
= ' 70,262
SEPBFHY |4 NA(A20 SE=2BF 843 X 160,000 160,000 0
2)(=2)
= 80,000
o= 80,000
308 AtXIE XM SOIH 160,000 160,000 0
= 80,000
< 80,000
10 212 S0 HEHE &= S AL I 160,000 160,000 0
oA=0 ==z 435 ¥ 160,000
= 80,000
== 80,000
SERNASSAASNA(ME - 2Z)(2D) 98,000 89,000 9,000
X 98,000 i
403 It XSS K201 A 98,000 89,000 9,000
Xl 98,000
01 X &HMA=2E = 98,000 89,000 9,000
OsEXY SSMASXJ(HME - 2F) 98,000
Xl 98,000
FRBEXNE(=1) 15,686 54,598 238,912
= 13,071
& 2,615
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2H: S

S ?5~4=EJHH‘ 2AS(SYHY 2L /5Y - 5&)
S99 s &8 (S5l @e)
V“kl é"“ ':hrl(iml) HI“A}%' : % : Oil &k
308 AHXI '-'*X{I':OIX" 15,686 54,598 38,912
2 13,071
< 2,615
0 RXSHBNEES 15,686 54,598 £38,912
CERTEEEF-PE 15,686
= 13,071
& 2,615
SEH0I2Y Z4(21) 2,224,400 0 2,224,400
X 1,804,000
& 420,400
403 XIS K201 ™ 2,204,400 0 2,224,400
X 1,804,000
= 420,400
0l RXISHIZEE 2,224,400 0 2,224,400
OSEHOIEA T4 2,224,400
x| 1,804,000
< 420,400
SEXY He 39,381,100 49,371,500 9,990,400
= 2,213,000
x 30,691, 100
= 6,477,000
IYY MsE 0H2ers)| 6,407,000 5,113,000 1,294,000
201 L2l 27,000 23,000 4,000
01 A2l 17,000 15,000 2,000
OXRN=EL 2F L =012 A& 17,000
03 #AF2 bl 10,000 8,000 2,000
ontg2iH s 10,000
202 01t 15,000 15,000 0
NETEE 15,000 15,000 0
©JIYE MsE OI2os)| X7 15,000
307 QI2H0I & 25,000 25,000 0
02 BIZBMAYEE 25,000 25,000 0
OO DINE 29 25,000
403 XIS K201 ™ 6,340,000 5,050,000 1,290,000
01 RXISHAZLSE 6,340,000 5,050,000 1,290,000
©JIYE MsE 02 2+s)| 4,300,000
OT%0HE 28t X 2,040,000
SEXNANY 2% 10,000 10,000 0
201 Lt | 10,000 10,000 0
01 A2l 10,000 10,000 0
OSEXANLANY N2 2 10,000
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SA:

el

=3
o g
s=

BN BB G9(E) - HEAY - B Oflarod S5 HRE2

] FOUFE D}%—F_'*%Jl N (s=8REH)(=ZD) B 156, 100 201,500 245,400
Xl 156, 100

308 AXIHHMSOI™ 156, 100 201,500 245,400
Xl 156, 100

01 AXSHHBAEZZ 156, 100 201,500 245,400
OFRUZT DISCHED| N (==8EEY) 156, 100
Xl 156, 100

TE—."—E OI20tE)| N} (s=S8 45 X|HH) (2D 120,000 120,000 0
= 60,000
== 60,000

307 C12+0| ™ 120,000 120,000 0
= 60,000
= 60,000

02 2B AMAIRA B X 120,000 120,000 0
OFUUFT NISUEI(SE=ELSXYHY) 120,000
= 60,000
c 60,000

SESAXNELEHAZXR)(=D) 2,377,000 1,721,000 656,000
Xl 2,377,000

403 AHXISHSK=01H 2,377,000 1,721,000 656,000
N 2,377,000

01 XIS HASER 2,377,000 1,721,000 656,000
OsE=sAXNELdsH(HEXT) 2,377,000
Xl 2,377,000

SESTAXEL(LeXR)(=D) 13,991,000 23,988,000 29,997,000
Xl 13,991,000

403 A XISHHSAE01H 13,991,000 23,988,000 9,997,000
Xl 13,991,000

01 XSS EE 13,991,000 23,988,000 9,997,000
OsSESANELT(LLNR) 13,991,000
Xl 13,991,000

HAUASEH WL (HAURASENL)(=D) 4,455,000 3,974,000 481,000

Xl 4,455,000 :

403 XtXICHHS K20l & 4,455,000 3,974,000 481,000
Xl 4,455,000

01 AXSHMAEEE 4,455,000 3,974,000 481,000
OEXZNDISUSI|(HSASE M) 4,455,000
Xl 4,455,000

YU ASENL(DISALSASE AL )(=D) 623,000 4,123,000 23,500,000
Xl 623,000

403 XX S S XH=0IH 623,000 4,123,000 23,500,000
Xl 623,000
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SN B

2o FAsENY HAM(SBHLHU/5Y - 52)
oo = IIO“ JH et
I =’k| . crﬂ(sun) ku A - agﬂ o HimE==]
01 I}IIC*IHIPEE_’F_ 623,000 4,123,000 43,500,000
OEXZNOISAUSI(ALHASEFHI) 623,000
Xl 623,000
OrSCelsENE(=20) 1,469,000 925,000 544,000
Xl 1,469,000
403 XX S M S XHE 01 & 1,469,000 925,000 544,000
Xl 1,469,000
01 XXM A2 E = 1,469,000 925,000 544,000
OEZXOISAUSII(DISHASEIMNY) 1,469,000
Xl 1,469,000
et 3s2s=X(=22) 2,725,000 1,321,000 1,404,000
Xl 2,725,000
403 XX &M S X201 & 2,725,000 1,321,000 1,404,000
X 2,725,000
01 XX SRR 2EE 2,725,000 1,321,000 1,404,000
OFEZTHOISUASI|(DISHABSS 28 =1N) 2,725,000
X 2,725,000
OrEd2Id3M(MEAS) (=) 449,000 523,000 AT74,000
Xl 449,000
403 XX & X S X201 & 449,000 523,000 AT74,000
Xl 449,000
01 HXSHXEEE 449,000 523,000 AT74,000
OFZHOISUSI|(DISHAZMHEAS 449,000
N 449,000
oSt F(Z 2 M) (=2) ' 1,929,000 1,881,000 48,000
X 1,929,000
403 Xt XIS S XHEO0 & 1,929,000 1,881,000 48,000
X 1,929,000
0f XXMt 2E X 1,929,000 1,881,000 48,000
OEZTHOISUASI(DISUASI T MEY) 1,929,000
Xl 1,929,000
NzZeEg2s(=1) 770,000 714,000 56,000
Xl 770,000
308 TXEHS O 770,000 714,000 56,000
Xl 770,000
01 AXISHHMBAEXZ 770,000 714,000 56,000
OANZS &35 770,000
Xl 770,000
NZH2(AIZES)(2D) 1,199,000 973,000 226,000
X 1,199,000
403 Xt XIS M S X208 1,199,000 973,000 226,000
Xl 1,199,000
01 AXICSMAE2EX 1,199,000 973,000 226,000
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FA s3I

Hu: YRSENY SAS(SYHLL/5Y - &)

Gl sEXNY e (St #&)
R LR rl(il?ll) kuuA}ai Has Oll{_\_W“ aRg HlnE2
T _©AIT§!_I(AI-T—"§_I) — RN ]

N 1,199,000

N2 (HFEXAAM)(ZD) 338,000 407,000 269,000
Xl 338,000

403 XM SN0 H 338,000 407,000 269,000
X 338,000

01 XM= EX 338,000 407,000 269,000
OANZEA(FZXNHAY) 338,000
X 338,000

SN (sENMEOE)(=1) 210,000 210,000 0
X 210,000

403 UHXIHHEN=0IE 210,000 210,000 0
X 210,000

01 HXISHHA=EE 210,000 210,000 0
o=4 sENE0E =4 210,000
X 210,000

)& sEDZRE ANYHAYE(ZA)(2D) 430,600 393,400 37,200
= 430,600

308 XXM SOl 430,600 393,400 37,200
= 430,600

01 IXSHBL4EES 430,600 393,400 37,200
O&JI& SEZZHME AYAY 430,600
= 430,600

)| sEZZHE ANEMY(X2)(22) 1,722,400 1,573,600 148,800
= 1,722,400

403 X SHHSKH=0l™ 1,722,400 1,573,600 148,800
= 1,722,400

01 XIS 2E = 1,722,400 1,573,600 148,800
OEIIY SEZZHE ANHAY 1,722,400
= 1,722,400

#Y293H(sZ W) (OIEHIIEH 66, 155 69,787 23,632

Jl23dl 66,155 69,787 23,632

EA2E JI22Hl 66,155 69,787 23,632

201 et 43,955 46,987 23,032

01 At2t2l b 33,955 36,987 23,032
ORAMEY AtR22|H| 33,955

02 S3&2gHl 10,000 10,000 0
OFAO(=HISEAYSUIR)2ES 10,000

202 04l 12,000 12,600 A600

01 =LHOII 12,000 12,600 A600
OFAEE =U0il 12,000
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A sEL
3 HY2SIH(SFD)OIEHIIE)
E2: Jl=3| (et2: &)

 RA-EA.O9(A) - NRAY-BEs | oee | BREE | wasa
T-—— 203 YR F=2H] 10,200 10,200 0
01 J| 22 HR=AH| 6,600 6,000 600

o= 6,600,000& 6,600
04 RN2SYRFAH| 3,600 4,200 AB00

©202! 0I5t 300,000& * 128 3,600
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